Some Classes of Univalent Analytic Functions Involving Jung. **Kim and Srivastava Operator**

Abdusalam R. Ahmed¹, and Salah Alhadi²

Abstract

This paper aimed to investigate and study some new subclasses of univalent starlike, convex and close – to – convex functions which defined by Jung, Kim and Srivastava operator P^{α} . The inclusion relations are established and the properties of integral operator P^{α} in these subclasses is discussed. Also We obtain some results of inclusion relations for composition operation of the operator P^{α} , and Bernardi integral operator $J_{c,1}$: $P^{\alpha}(J_{c,1}f(z))$ of functions f(z), belonging to these subclasses of univalent analytic functions. The main results of this paper are to obtain the properties and inclusion relations for subclasses of univalent functions involving the operator P^{α} and $P^{\alpha}(J_{c,1}f(z))$

Key wards: Univalent Analytic Functions; starlike functions; Convex functions; Close - to convex functions; Jung, Kim and Srivastava Operator.

¹ Department of Mathematics Faculty of science, Azzaytouna University, Tarhuna, Libya.

² Department of Mathematical Sciences, The Libyan Academy, Tripoli, Libya.

1. Introduction

Let A denote the class of function of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$
. (1.1)

Which are analytic in the open unit disk $U = \{z: |z| < 1\}$.

A function $f \in A$ is said to be in the class $S^*(\alpha)$ of univalent starlike functions of order α , if it satisfies

$$Re\left(\frac{zf'(z)}{f(z)}\right) > \alpha(0 \le \alpha < 1, z \in U).$$
 (1.2)

We write $S^*(0) = S^*$ the class of univalent starlike functions in U.

A function $f \in A$ is said to be in the class $C(\alpha)$ of univalent convex functions of order α , if it satisfies

$$Re\left(1 + \frac{zf''(z)}{f'(z)}\right) > \alpha \quad (0 \le \alpha < 1, z \in U).$$
 (1.3)

The class of univalent convex functions in U is denoted by C = C(0). It follows from (1.2) and (1.3) that

$$f(z) \in C(\alpha)$$
 if and only if

$$zf'(z) \in S^*(\alpha), (0 \le \alpha < 1).$$
 (1.4)

These classes S^* and C was introduced by Goodman [1, 2].

Furthermore, a function $f \in A$ is said to be univalent close-to-convex of order β and Type γ in U, if there exists a function $g \in S^*(\gamma)$ such that

$$Re\left(\frac{zf'(z)}{a(z)}\right) > \beta$$
, $(0 \le \beta, \gamma < 1, z \in U)$. (1.5)

We denote by $B(\beta, \gamma)$, the subclass of A consisting of all such functions.

The class $B(\beta, \gamma)$, was studied by Kaplan [3] and Libera [4].

For the functions $f_j(z)$ (j = 1,2) defined by

$$f_j(z) = z + \sum_{k=2}^{\infty} a_{k,j} z^k.$$
 (1.6)

We denote the Hadamard product (or convolution)

$$f_1(z) * f_2(z) = z + \sum_{k=2}^{\infty} a_{k,1} a_{k,2} z^k$$
 (1.7)

For $f(z) \in A$ given by (1.1), Jung, Kim and Srivastava [5], have introduced the following one parameter integral operator:

$$P^{\alpha}f(z) = \frac{2^{\alpha}}{z\Gamma(\alpha)} \int_0^z \left(\ln \frac{z}{t} \right)^{\alpha - 1} f(t) dt , (\alpha > 0), \quad (1.8)$$

or equivalently by

$$P^{\alpha}f(z) = z + \sum_{n=2}^{\infty} \left(\frac{2}{n+1}\right)^{\alpha} a_n z^n$$
, $(\alpha > 0)$. (1.9)

From (1.9), we get the identity

$$z(P^{\alpha}f(z))' = 2P^{\alpha-1}f(z) - P^{\alpha}f(z).$$
 (1.10)

Using the operator $P^{\alpha}f(z)$, we now introduce the following classes.

$$S_{\alpha}^{*}(\lambda) = \{ f \in A : P^{\alpha - 1}f(z) \in S^{*}(\lambda), 0 \le \lambda < 1, \alpha > 0 \}$$

$$C_{\alpha}(\lambda) = \{ f \in A : P^{\alpha - 1}f(z) \in C(\lambda), 0 \le \lambda < 1, \alpha > 0 \}$$

and

$$B_{\alpha}(\beta,\gamma) = \{ f \in A : P^{\alpha-1}f(z) \in B(\beta,\gamma), 0 \le \beta, \gamma < 1, \alpha > 0 \}.$$

In this paper, we shall establish inclusion relations for these classes and investigate integral operator in these classes.

2. Inclusion Relations

In order to prove our main results, we shall require the following lemma.

Lemma [6,7,8]

Let $\phi: D \to \mathbb{C}$, $D \subset \mathbb{C} \times \mathbb{C}$ (\mathbb{C} is the complex plane).

and let $u = u_1 + iu_2$, $v = v_1 + iv_2$. Suppose that the function $\phi(u, v)$ satisfies

(i) $\phi(u,v)$ is continuous in D; (ii) $(1,0) \in D$ and $Re\{\phi(1,0)\} > 0$; (iii) for all $(iu_2,v_1) \in D$ such that

$$v_1 \le -\frac{(1+u_2^2)}{2}, \qquad Re\{\phi(iu_2, v_1)\} \le 0.$$

Let $p(z) = 1 + p_1 z + p_2 z^2 + \cdots$ be regular in the unit disk U, such that $(p(z), zp'(z)) \in D$ for all $z \in U$. If $Re\left\{\phi\left(p(z), zp'(z)\right)\right\} > 0$ $(z \in U)$.

Then $Re\{p(z)\} > 0 \ (z \in U)$.

Our first theorem is stated as:

Theorem 1.

$$S_{\alpha}^{*}(\lambda) \subset S_{\alpha+1}^{*}(\lambda), (\alpha > 0).$$

Proof. Let $f \in S_{\alpha}^*(\lambda)$ and set

$$\frac{Z(P^{\alpha}f(z))}{P^{\alpha}f(z)} = \lambda + (1 - \lambda)h(z), \qquad (2.1)$$

where $h(z) = 1 + c_1 z + c_2 z^2 + \cdots$ using the identity (1.10), we have

Functions Involving Jung, Kim and Srivastava Operator

$$\frac{P^{\alpha-1}f(z)}{P^{\alpha}f(z)} = \frac{1}{2} \left[\frac{z(P^{\alpha}f(z))'}{P^{\alpha}f(z)} + 1 \right] = \frac{1}{2} [\lambda + (1-\lambda)h(z) + 1]. \tag{2.2}$$

Differentiating (2.2), and multiply both sides by z, we obtain

$$\frac{z(P^{\alpha-1}f(z))'}{P^{\alpha-1}f(z)} = \frac{z(P^{\alpha}f(z))'}{P^{\alpha}f(z)} + \frac{(1-\lambda)zh'(z)}{\lambda + (1-\lambda)h(z) + 1}$$

$$\frac{z\left(P^{\alpha-1}f(z)\right)}{P^{\alpha-1}f(z)} - \lambda = (1-\lambda)h(z) + \frac{(1-\lambda)zh'(z)}{1+\lambda+(1-\lambda)h(z)}.$$
 (2.3)

Now we form the function $\phi(u, v)$ by taking u = h(z), v = zh'(z)in (2.3) as:

$$\phi(u,v) = (1-\lambda)u + \frac{(1-\lambda)v}{1+\lambda+(1-\lambda)u}.$$
(2.4)

It is easy to see that the function $\phi(u,v)$ satisfies conditions (i) and (ii) of Lemma 1, in $D = \left(\mathbb{C} - \left\{\frac{1+\lambda}{\lambda-1}\right\}\right) \times \mathbb{C}$.

To verify condition (iii), we calculate as follows:

$$\begin{split} Re \; \phi(iu_2, v_1) &= Re \left\{ \frac{(1-\lambda)v_1}{1+\lambda+(1-\lambda)iu_2} \right\} \\ &= \frac{(1-\lambda)(1+\lambda)v_1}{(1+\lambda)^2+(1-\lambda)^2u_2^2} \\ &\leq -\frac{\frac{(1-\lambda)(1+\lambda)(1+u_2^2)}{2\{(1+\lambda)^2+(1-\lambda)^2u_2^2\}} \leq 0, \end{split}$$

where $v_1 \le -\frac{(1+u_2^2)}{2}$ and $(iu_2, v_1) \in D$. Therefore the function $\phi(u, v)$ satisfies the conditions of Lemma 1. This shows that if

 $Re\ \phi \big(h(z),zh'(z)\big)>0\ (z\in U),\ \ {\rm then}\ \ Reh(z)>0\ (z\in U),\ \ {\rm that}\ \ {\rm is}\ \ {\rm if}$ $f(z)\in S^*_\alpha(\lambda)$ then $f(z)\in S^*_{\alpha+1}(\lambda).$ The proof is complete.

Theorem 2.

$$C_{\alpha}(\lambda) \subset C_{\alpha+1}(\lambda), (\alpha > 0).$$
Proof. $f(z) \in C_{\alpha}(\lambda) \Leftrightarrow P^{\alpha-1}f(z) \in C(\lambda)$

$$\Leftrightarrow z(P^{\alpha-1}f(z))' \in S^*(\lambda)$$

$$\Leftrightarrow P^{\alpha-1}(zf') \in S^*(\lambda)$$

$$\Leftrightarrow zf'(z) \in S^*_{\alpha}(\lambda)$$

$$\Rightarrow zf'(z) \in S^*_{\alpha+1}(\lambda)$$

$$\Leftrightarrow P^{\alpha}(zf'(z)) \in S^*(\lambda)$$
183

$$\Leftrightarrow z(P^{\alpha}f(z))^{'} \in S^{*}(\lambda)$$

$$\Leftrightarrow P^{\alpha}f(z) \in C(\lambda)$$

$$\Leftrightarrow f(z) \in C_{\alpha+1}(\lambda)$$

Which evidently proves Theorem 2.

Theorem 3.

$$B_{\alpha}(\beta, \gamma) \subset B_{\alpha+1}(\beta, \gamma).$$

Proof .Let $f(z) \in B_{\alpha}(\beta, \gamma)$. then there exists a function $k(z) \in S^*(\gamma)$ such that

$$Re\left\{\frac{z\left(P^{\alpha-1}f(z)\right)'}{k(z)}\right\} > \beta$$
, $(z \in U)$.

Taking the function g(z) which satisfies $P^{\alpha-1}g(z)=k(z)$, we have $g(z) \in S^*_{\alpha}(\gamma)$ and

$$Re\left\{\frac{z\left(P^{\alpha-1}f(z)\right)'}{P^{\alpha-1}g(z)}\right\} > \beta$$
, $(z \in U)$.

Now set

$$\frac{z(P^{\alpha}f(z))'}{P^{\alpha}g(z)} = \beta + (1 - \beta)h(z), \qquad (2.5)$$

where $h(z) = 1 + c_1 z + c_2 z^2 + \cdots$ from (2.5), we have

$$z(P^{\alpha}f(z))' = P^{\alpha}g(z)[\beta + (1-\beta)h(z)]. \tag{2.6}$$

So that from (2.6) and the identity (1.10), we have

$$2z(P^{\alpha-1}f(z))' = z(P^{\alpha}g(z))'[\beta + (1-\beta)h(z)]$$

$$+P^{\alpha}g(z)[(1-\beta)zh'(z)] + z(P^{\alpha}f(z))'.$$
 (2.7)

Now apply (1.10) for the function g(z) and use (2.7) to obtain

$$\frac{z(p^{\alpha-1}f(z))}{p^{\alpha-1}g(z)} = \beta + (1-\beta)h(z) + \frac{p^{\alpha}g(z)}{p^{\alpha-1}g(z)} \left(\frac{(1-\beta)zh'(z)}{2}\right). \quad (2.8)$$

Since $g(z) \in S_{\alpha}^*(\gamma)$ and $S_{\alpha}^*(\gamma) \subset S_{\alpha+1}^*(\gamma)$, we let

$$\frac{z(P^{\alpha}g(z))}{P^{\alpha}g(z)} = \alpha + (1 - \alpha)H(z),$$

where Re(H(z)) > 0, $(z \in U)$. Thus (2.8), can be written as:

$$\frac{z(p^{\alpha-1}f(z))}{p^{\alpha-1}g(z)} - \beta = (1-\beta)h(z) + \frac{(1-\beta)zh'(z)}{1+\gamma+(1-\gamma)H(z)}.$$
 (2.9)

3.

Now we form the function $\phi(u, v)$ by taking u = h(z), v = zh'(z)in (2.9)as:

$$\phi(u,v) = (1-\beta)u + \frac{(1-\beta)v}{1+v+(1-v)H(z)}.$$

It is easy to see that the function $\phi(u, v)$ satisfies conditions (i) and (ii) of Lemma 1, in $D = \mathbb{C} \times \mathbb{C}$.

To verify condition (iii), we proceed as follows:

the

$$Re\phi(iu_2,v_1) = \frac{(1-\beta)v_1[1+\gamma+(1-\gamma)h_1(x,y)]}{[1+\gamma+(1-\gamma)h_1(x,y)]^2 + [(1-\gamma)h_2(x,y)]^{2'}}$$
 where $H(z) = h_1(x,y) + ih_2(x,y)$, $h_1(x,y)$ and $h_2(x,y)$ being functions of x and y and
$$ReH(z) = h_1(x,y) > 0.$$
 By putting $v_1 \leq \frac{-(1+u_2^2)}{2}$, we have
$$Re\phi(iu_2,v_1) = -\frac{(1-\beta)(1+u_2^2)[1+\gamma+(1-\gamma)h_1(x,y)]}{[1+\gamma+(1-\gamma)h_1(x,y)]^2 + [(1-\gamma)h_2(x,y)]^2} < 0.$$
 Hence $Reh(z) > 0$, $(z \in U)$, and so $f(z) \in \beta_{\alpha+1}(\beta,\gamma)$.

3. Integral operator

For c > -1 and $f(z) \in A$, Bernardi [9],was introduced the integral operator $J_{c,1}f(z)$ as:

proof

$$J_{c,1}(f(z)) = \frac{c+1}{z^c} \int_0^z t^{c-1} f(t) dt.$$
 (3.1)

completes

In particular, the operator $J_{1,1}$ was studied earlier by Libera [10] and Livingston [11].

Theorem 4.

This

Let
$$C > -\gamma$$
 If $f(z) \in S_{\alpha}^{*}(\gamma)$, then $J_{c,1}f(z) \in S_{\alpha}^{*}(\gamma)$.
Proof: Let $f(z) \in S_{\alpha}^{*}(\gamma)$, from (3.1), we have
$$z\left(P^{\alpha-1}J_{c,1}f(z)\right)' = (c+1)P^{\alpha-1}f(z) - cP^{\alpha-1}J_{c,1}f(z) . \tag{3.2}$$
Set
$$\frac{z\left(P^{\alpha-1}J_{c,1}f(z)\right)'}{P^{\alpha-1}J_{c,1}f(z)} = \gamma + (1-\gamma)h(z), \tag{3.3}$$
where $h(z) = 1 + c_{1}z + c_{2}z^{2} + \cdots$

Using the identity (3.3), (3.2), we have

$$\frac{P^{\alpha-1}f(z)}{P^{\alpha-1}J_{c,1}f(z)} = \frac{1}{c+1} [c + \gamma + (1-\gamma)h(z)]. (3.4)$$

Differentiating (3.4), and multiply both sides by z, we get

$$\frac{z(P^{\alpha-1}f(z))'}{P^{\alpha-1}f(z)} = \frac{z(P^{\alpha-1}J_{c,1}f(z))'}{P^{\alpha-1}J_{c,1}f(z)} + \frac{(1-\gamma)zh'(z)}{c+\gamma+(1-\gamma)h(z)}.$$

From (3.3), we get

$$\frac{z(p^{\alpha-1}f(z))'}{p^{\alpha-1}f(z)} - \gamma = (1-\gamma)h(z) + \frac{(1-\gamma)zh'(z)}{c+\gamma+(1-\gamma)h(z)}.$$
 (3.5)

Now we form the function $\phi(u, v)$ by taking

$$u = h(z), v = zh'(z)in (3.5)as$$

$$\phi(u,v) = (1-\gamma)u + \frac{(1-\gamma)v}{c+\gamma+(1-\gamma)u}.$$

It is easy to see that the function $\phi(u,v)$ satisfies conditions (i) and (ii) of Lemma 1, in $D = \left(\mathbb{C} - \left\{\frac{c+\gamma}{\gamma-1}\right\}\right) \times \mathbb{C}$.

To verify condition (iii), we calculate as follows:

$$\begin{split} Re\phi(iu_2,v_1) &= Re\left\{\frac{(1-\gamma)v_1}{c+\gamma+(1-\gamma)iu_2}\right\} \\ &= \frac{(1-\gamma)(c+\gamma)v_1}{(c+\gamma)^2+(1-\gamma)^2u_2^2} \\ &\leq -\frac{(1-\gamma)(c+\gamma)(1+u_2^2)}{2(c+\gamma)^2+(1-\gamma)^2u_2^2} < 0, \end{split}$$

where $v_1 \leq -\frac{(1+u_2^2)}{2}$, and $(iu_2,v_1) \in D$, therefore the function $\phi(u,v)$, satisfies conditions of Lemma 1. This shows that if $Re\phi(u,v) > 0$, $z \in U$, then Re(h(z)) > 0 then $J_{c,1}f(z) \in S^*_{\alpha}(\gamma)$. The proof is complete.

Theorem 5.

Let
$$> -\gamma$$
, If $f(z) \in c_{\alpha}(\gamma)$, then $J_{c,1}f(z) \in C_{\alpha}(\gamma)$.
Proof. Let $f(z) \in c_{\alpha}(\gamma) \Rightarrow zf'(z) \in S_{\alpha}^{*}(\gamma)$
 $\Rightarrow J_{c,1}\left(zf'(z)\right) \in S_{\alpha}^{*}(\gamma)$ [Theroem 4]
 $zJ_{c,1}\left(f'(z)\right) \in S_{\alpha}^{*}(\gamma) \Leftrightarrow z\left(J_{c,1}f(z)\right)^{'} \in S_{\alpha}^{*}(\gamma)$
 $\Leftrightarrow J_{c,1}f(z) \in c_{\alpha}(\gamma)$.

The proof is complete

Theorem 6.

Let $c > -\gamma$. If $f(z) \in B_{\alpha}(\beta, \gamma)$ then $J_{c,1}f(z) \in B_{\alpha}(\beta, \gamma)$.

Proof. Let $f(z) \in B_{\alpha}(\beta, \gamma)$. Then by the definition there exists a function $g(z) \in S_{\alpha}^{*}(\gamma)$ such that

$$Re\left\{\frac{z\left(P^{\alpha-1}f(z)\right)}{P^{\alpha-1}g(z)}\right\} > \beta$$
, $(z \in U)$.

Put

$$\frac{z(P^{\alpha-1}f(z))'}{P^{\alpha-1}J_{c,1}g(z)} = \beta + (1-\beta)h(z), (3.6)$$

where $h(z) = 1 + c_1 z + c_2 z^2 + \dots$ From (3.2), we have

$$\frac{(c+1)P^{\alpha-1}f(z) - cP^{\alpha-1}J_{c,1}f(z)}{P^{\alpha-1}J_{c,1}g(z)} = \beta + (1-\beta)h(z)$$

$$(c+1)P^{\alpha-1}f(z) - cP^{\alpha-1}J_{c,1}f(z) = \Big(P^{\alpha-1}J_{c,1}g(z)\Big)\Big(\beta + (1-\beta)h(z)\Big).$$

Differentiating both sides and multiply by z, we get

$$(c+1)z(P^{\alpha-1}f(z))' = z(P^{\alpha-1}J_{c,1}(g(z)))' [\beta + (1-\beta)h(z)] + (P^{\alpha-1}J_{c,1}(g(z)))((1-\beta)zh'(z)) + cz(P^{\alpha-1}J_{c,1}(f(z)))'.$$
(3.7)

Now apply (3.2) for the function g(z) and use (3.7), to obtain

$$\frac{z(p^{\alpha-1}f(z))'}{p^{\alpha-1}g(z)} = \beta + (1-\beta)h(z) + \frac{p^{\alpha-1}J_{C,1}(g(z))}{p^{\alpha-1}g(z)} \cdot \frac{(1-\beta)zh'(z)}{c+1} . \tag{3.8}$$

Since $g(z) \in s_{\alpha}^{*}(\gamma)$, then from Theorem 4,

 $J_{c,1}(f(z)) \in S^*_{\alpha}(\gamma)$, we let

$$\frac{z\left(P^{\alpha-1}J_{C,1}(g(z))\right)'}{P^{\alpha-1}g(z)} = \gamma + (1-\gamma)H(z).$$

Where Re(H(z)) > 0 ($z \in U$). Thus (3.8) can be written as:

$$\frac{z(p^{\alpha-1}f(Z))'}{p^{\alpha-1}g(Z)} - \beta = (1-\beta)h(Z) + \frac{(1-\beta)zh'(Z)}{c+\gamma+(1+\gamma)H(Z)}.$$
 (3.9)

Now we form the function $\emptyset(u, v)$ by taking

u = h(z), v = zh'(z) in (3.9) as:

$$\phi(u, v) = (1 - \beta)u + \frac{(1 - \beta)v}{u + \gamma + (1 - \gamma)H(z)}.$$

It is easy to see that the function $\phi(u, v)$ satisfies conditions (i) and (ii) of Lemma 1, in $D = \mathbb{C} \times \mathbb{C}$.

To verify condition (iii) we proceed as follows:

$$Re\phi(iu_2,v_1) = \frac{(1-\beta)v_1[1+\gamma+(1-\gamma)h_1(x,y)]}{[1+\gamma+(1-\gamma)h_1(x,y)]^2+[(1-\gamma)h_2(x,y)]^2},$$

where $H(z) = h_1(x, y) + ih_2(x, y)$, $h_1(x, y)$ and $h_2(x, y)$ being functions of x and y and $ReH(z) = h_1(x, y) > 0$.

By putting
$$v_1 \le -\frac{(1+u_2^2)}{2}$$
, we have

$$Re\phi(iu_2, v_1) = -\frac{(\bar{1} - \beta)(1 + u_2^2)[1 + \gamma + (1 - \gamma)h_1(x, y)]}{2\{[1 + \gamma + (1 - \gamma)h_1(x, y)]^2 + [(1 - \gamma)h_2(x, y)]^2\}} \le 0.$$

Hence Reh(z) > 0, $(z \in U)$

and so $f(z) \in \beta_{\alpha+1}(\beta, \gamma)$. This completes the proof of Theorem 6.

References

- [1] Goodman, A. W. (1983). Univalent functions, vol. I, II, Polygonal Publishing House, Washington, N. J.
- [2] Robertson, M. I. (1936). On the theory of univalent functions. Annals of Mathematics, 374-408.
- [3] Kaplan, W. (1952). Close-to-convex schlicht functions, Michigan Math. J., 1, 169-195.
- [4] Libera, R. J. (1964). Some radius of convexity problems, Duke Math. J. 31:143-158.
- [5] Jung, I. B., Kim, Y. C., and Srivastava, H. M., (1993). The Hardy space of analytic functions associated with certain one-parameter families of integral operators, J. Math. Anal. Appl., 176: 138-147.

- [6] S. S. Miller and P. T. Mocanu, Second order differential inequalities in the complex plane, J. math. Anal.Appl. 65, 289 305, (1978).
- [7] Goel R. M. and Sohi N. S., (1980). A new criterion for p-valent functions, Proc. Amer. Math. Soc., 78: 353-357.
- [8] Liu, J.L. and Noor, K.I., (2002). Some properties of Noor integral operator. J. Nat. Geometry 21: 81-90.
- [9] Bernardi S.D.(1969) Convex and starlike univalent functions, Trans. Amer. Math. Soc.135: 429-446.
- [10] Libera, R.J. (1965). Some classes of regular univalent functions. Proc. Amer. Math. Soc. 16:755-758.
- [11] Livingston, A. E. (1966). On the radius of univalence of certain analytic functions. Proc. Amer. Math. Soc. 17: 352-357.